(SOLUTION) TEST - 38 (Textbook) ( INSTA Prelims Test Series 2022 )

1905 Benares ||Gopal Krishna Gokhale Expressed resentment against the partition of

Bengal
‘IQOGHCaIcutta HDadabhai Naoroji HThe word ‘Swaraj’ was mentioned for the first time ‘
‘1907H5urat HRash Behari Ghosh HParty splits into extremists and moderates ‘
‘lgllHCaIcutta HBishan Narayan Dhar ‘Jana Gana Mana’ sung for the first time ‘
Ambica Charan Lucknow Pact - joint session with the Muslim
1916| Lucknow
Mazumdar League
1917||Calcutta i‘;g; Besant|(1847 - First woman president of the INC
1925| Kanpur igz{g;m Naidu (1879 - First Indian woman president
‘1928HCaIcutta HMotiIaI Nehru HAII India Youth Congress formed

Resolution for ‘Poorna Swaraj.” Civil Disobedience
movement for complete independence to be
launched, 26 January to be observed as
‘Independence Day’.

1929||Lahore ||Jawaharlal Nehru

First rural session/first session to be held in a

1936|/Faizpur |Jawaharlal Nehru :
village

‘1938HHaripuraHSubha5 Chandra Bose HNationaI planning committee set up under Nehru

Hence, option (b) is correct.

29. Correct Answer : A

Answer Justification :

Mahatma Gandhi

His first major public appearance was at the opening of the Banaras Hindu University (BHU) in February

1916.

The Khilafat Movement, (1919-1920) was a movement of Indian Muslims, led by Muhammad Ali and

Shaukat Ali, that demanded the following: Hence, statement 2 is incorrect.

e The Turkish Sultan or Khalifa must retain control over the Muslim sacred places in the erstwhile
Ottoman empire; the jazirat-ul-Arab (Arabia, Syria, Iraq, Palestine) must remain under Muslim
sovereignty; and the Khalifa must be left with sufficient territory to enable him to defend the Islamic

faith.
TIMELINE
1915 Mahatma Gandhi returns from South Africa
1917 Champaran movement
1918 Peasant movements in Kheda (Gujarat), and workers' movement
in Ahmedabad
1919 Rowlatt Satyagraha (March-April)
1919 Jalltanwala Bagh massacre (April)

1921 Non-cooperation and Khilafat Movements
Hence, statement 3 is incorrect.

30. Correct Answer : A
Answer Justification :



